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Entries  518933

Mean x   5.681±  499.8 

Mean y  0.04448± -14.25 

RMS x   4.017±  400.6 

RMS y  0.03145±  3.137 

Integral     4973
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Entries  518933

Mean x   5.681±  499.8 

Mean y  0.04448± -14.25 
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Integral     4973
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Entries  518933

Mean x    4.94±  435.6 

Mean y  0.04805± -14.29 

RMS x   3.493±  343.9 

RMS y  0.03397±  3.345 

Integral     4848
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Entries  518933

Mean x    4.94±  435.6 

Mean y  0.04805± -14.29 

RMS x   3.493±  343.9 

RMS y  0.03397±  3.345 

Integral     4848
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Entries  518933

Mean x   5.255±  472.1 

Mean y  0.04327± -14.35 

RMS x   3.716±    366 

RMS y  0.0306±  3.014 

Integral     4851

0

1

2

3

4

5

6

7
AVE_time_vs_AVEsum_adc_e1

Entries  518933

Mean x   5.255±  472.1 

Mean y  0.04327± -14.35 

RMS x   3.716±    366 
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Integral     4851
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Entries  518933

Mean x   5.214±  468.7 

Mean y  0.04327± -14.35 

RMS x   3.687±  363.3 

RMS y  0.03059±  3.015 

Integral     4856
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Entries  518933

Mean x   5.214±  468.7 

Mean y  0.04327± -14.35 

RMS x   3.687±  363.3 
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Integral     4856
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Entries  206338

Mean x  0.002236± -0.009963 

Mean y  0.05374± -14.26 

RMS x  0.001581± 0.1277 

RMS y   0.038±  3.071 

Integral     3265
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Mean x  0.002236± -0.009963 

Mean y  0.05374± -14.26 

RMS x  0.001581± 0.1277 

RMS y   0.038±  3.071 

Integral     3265

Left_time_vs_try_e1

BB.tp.try[0]

-0.25-0.2-0.15-0.1-0.05 0 0.05 0.1 0.15 0.2 0.25

B
B

.t
p

.e
.R

T
[1

]-
D

B
B

.l1
a[

0]
*0

.5

-20

-18

-16

-14

-12

-10

-8

-6

-4

-2

0
Right_time_vs_try_e1

Entries  206338

Mean x  0.002247± -0.009094 

Mean y  0.05937±  -14.4 

RMS x  0.001589± 0.1274 

RMS y  0.04198±  3.366 

Integral     3215

0

0.5

1

1.5

2

2.5

3

3.5

4

4.5

5
Right_time_vs_try_e1

Entries  206338
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Integral     3215

Right_time_vs_try_e1

BB.tp.try[0]

-0.25-0.2-0.15-0.1-0.05 0 0.05 0.1 0.15 0.2 0.25

0.
5*

(B
B

.t
p

.e
.R

T
[1

]+
B

B
.t

p
.e

.L
T

[1
])

-D
B

B
.l1

a[
0]

*0
.5

-20

-18

-16

-14

-12

-10

-8

-6

-4

-2

0
AVE_time_vs_AVE_try_e1

Entries  206338

Mean x  0.002259± -0.0101 

Mean y  0.05315± -14.38 

RMS x  0.001598± 0.1279 

RMS y  0.03758±  3.008 

Integral     3203
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